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PUBLIC ADMINISTRATION

Which ol the following stalements about

separation of the Railway Budget from the

General Budget of India are correct?

|, To introduce flexibihty n railway
finance management

2 To facilitate a business approach 1o the
railway policy

3 To secure stability of the general
revenues by providing an assured
annual contribution from  railway
revenugs

4. To enable the railwavs to keep their
profits for their own developmeni

Select the correct answer using the code

aiven below:,

Code:

a. 2.3 and 4 only

b. 1 and 4 only

¢ }.2and 3 onlv
d 1.2.3and 4
e d

Consider the [ollowing statements:

A Bill 15 deemed 1o be a Monev Bi'' .1l

contains only provisions dealing wit. th

I imposition,  abolitton,  r mis. o,
alteration or regulation of any ..

2. regulanon of the borr e 2 0. money
bv the government

3. appropnation ¢” moneys oul of the
Consolidated “un.' of \.dia

4. custody ¢ th. o, tingency Fund ol

India
Which of . 2 ove statements are correct”
a | 2oa3only
b 2. _ and 4 only

" a4 only
d .2 3and4
g d
Which one of the following statements 15
correct with regard to the powers of the
Parliameni of India in enacting the budget?
a Il can increase a 1ax. but not reduce it
b. 1t can increase a tax as well as reduce
or abohsh 1t
It cannot increase a tax, but can reduce
or abolish it

o

Ln

6.

d. It can neither increase a tax nor reduce
il

e ¢

Which of the following stalemenls are

correct 0 respect of parliamentary debate

on Appropnation Bill?

| No amendments can be wea w Lhe

amount of expenditure.

Speaker 15 empe._ed ‘o withhold

permission on 1 waters of repetitive

nature.

3. Rajva Sabh. has jower 1o amend or
reject the Bill.

Select e « arec. answer using the code

given bW

Ci de:

< ‘an Zonly

I and 3 only

2 and 3 only

1.2 and 3

. 4

To which of the following. the 74"

Constitutional Amendment has not pad

atiention’/

1. Municipal personnel system

2, Constitubon and compasition  of
mumcipaliy

3. Relanons between elected executive
and bureaucracy

4 Relabons between
govemment and para-stalals

Select the correct answer using the code

given below

I=d

i & 0 o

municipal

(Code:

a | and 2 only
b, 1.3and4d

c. 2. 3and4
d 1.2and3

e, ]

Which of the lollowing 1s/are correcl n

respect of “Zero Hour” discussion”

1. It 15 not directed aganst individunl
Minister.

2, Il covers questions rmsed over matters
of public importance.




Seleet the comecl answer wsing the code

given below:
Code:

a. Lonly

b, 2only

¢, Both 1 and 2
d. Neither 1 nor 2
g. b

Through which of the following is judicial
control  over administration 1 India
exercised?

1. Adjudication

2. Judicial Review

3. Wnis

4. Public Interest Litigation

Select the correct answer using the code
given below:

Code:

a, land4only

b. Zand 3 only

c. 1.2, 3and4d

d., 2.3 and 4 only

g

Which of the (ollowing statements is/are
correet of the writ of prohibition?

1. It is an order issued by a higher cour,
commanding a lower cowrt to e <
from proceeding in some metie,s aa)
within its junsdiction.

It can be claimed by an avariey 4 party
as a matter ol right.

Select the correct answer win |, the code
given below:

Code:

a. lonly

b. Zonly

¢. Boh 1

d. Nothe, nor 2

5]

L

%]

o ieh among the following countries 15
Chaner  Mark  Programme  being
effectivelv. used 1o evaluate  the
performance of povernment agencies
through outside independent agencies?

a. Japan

b. France

¢, Great Britain
d. TISA

'

L

1.

12,

—
fad
b

14.

‘Poly-communalism™ 15 the term comed by
Fred Rigos to descenbe

a, integrated society

b, plural society

c. diffracted society

parochial society

e. b

The ‘Collegial” type of executive can be
found in which one of the following
countries?

Japan

France

Switzerland

Great Britain

b

On which of b - fol owing factors does
people’s  narticipavon  depemd  for it
success 1 influencing the governance
proc=cs,

1. Abil *y of the people to participate

7 YAl agmess of the people to participate
a0 Opporunity te the people Lo participate
4 Mechamsms available for participation
Select the correct answer using the code
given below:

Code:

a. 1.2 and 4 only

£

&80 oK

b, 1.2 and 3 only
¢, 3 and 4 only

d. 1.2 3and 4

e d

According to Chester Bamard, which of
the following are the charactenstics of
organizational decisions?

1. They are impersonal.

2. They cannol be delegated.

3. They are specialized.

They result from logical thought
processes.

Select the correct answer using the code
given below:

Code:

a. 1.3 and 4 only

b, 1 and 2only

¢. 2.2 and 4 only

d. 1.2.3and4

& B

Chester Barnard’s concept ol ‘zone ol
mdifference” relers to orders that are

&4




13.

16.

1'%,

18,

a. barely unacceptable

b. just about acceptable

¢, unguestionably acceplable

d. not always acceplable

e R

Consider the following statements Human

relations theory

1. views organization as a psychological
and social system

2. takes the social view of man

emphasizes the physiological and

mechanical aspects ol organization

4. assumes that people are homogeneous

Which of the statements given above are

not correet?

Tad

a, land 2
b. 2and3
c, 3and 4
d. land4
e a

Which one of the following expenments
was nol included in the Hawthome
experimenty?

Bank wiring observation room

Relay assembly lest room

Cutting metals

Great illamination

C

Consider  the  following <1 eme...s
Hawthorne studies showed that winkers
had devised norms for he ovtpid of a
group as one should not be

1. rate-buster

2. chiseller

3. squealer

Which of “he . ‘atements given above 15/are
correct?

a. 1.aly

b. . wiZaonly

v« and 3 only

d. 1.2and 3

. b

Which of the following statements are
eorrect?

The behavieural approach 15 considered to
be

1. a humane approach

2. based on Hawthome lindings

8/ p T ow

19.

N,

3. largely concerned with  decision-
making

4. the dominant approach in the pre-
World War I period

Select the correct answer using the code

aiven below:

Code:

a. 1 and 3 only

b, 2and 4 only

¢. 1,2 and 3 enly

d, 1.2, 3and 4

RS

Which of the follow .o s . wrect about

systems approach?

a. Emphasizes ¢ sta. - structure of the
organizalion

b. Considers manuy the formal structure
oft! ¢ or cant.ation

c. Fvp s | aman motivalion in terms of
severdl aclors

1, hev s organizational order as being
vuposed from the top

S C

Which of the [ollowing authors can be

crediled with the carliest systematic use of

social sysiems approach in adminisirative

studies?

a. F.J. Roethlisberger and W. 1. Dickson
b, John M. Pfitfner

¢, Mary Parker Follett

d. Frank I. Goodnow

e €

Which one of the followmg 1s not correct

with regard to the systems theory of

organization?

o, A system is characterized by parts and
sub-parts

b. A change in one part affects changes in

other parts

A system 1s characterized by dynamic

disequilibrium

d. A system is open and mteractive

g €

To which of the following notions of the

man in an organizabonal setup does the

coneept of bounded rationality relate more

L

closely?
1. Economic
2. Optimizing

3. Admmistrative




P
i

4. Satisficing
Select the correct answer using the code

given below:
Code:

a, land2
b. 2and 4
¢, 3and 4
d 2and3
. £

Match List-I with List-1I and select the
comreel answer using the code given below
the Lists:

List=I (Advoeate)

A. Herbert Simon

B. Charles Lindblom

C. Amitai Etziom

Lisi—II (Muadel)

1. Nixed-scanning model
2. Economie rationality model
3. Bounded rationality model
4. Incremental model
Code:
A B C
i, 2 3 4
b. 3 2 1
7 2 1 3
d. 3 4 1
e d

According to Yehezkel Dror. " b of e

following characteristics 7 the optimal

model of policy makir @ "el - man in

understanding the optumal v ~d- .7

1. It contains bohi ratirnal and extra
rational eleme w.

2. It has b: ac = onality and economic
ration iy,

3. Itc-ata us . Suill-in feedback system.

4. It ~dop. the methodology of logical
L. 7 TVISTT,

ao'=t the correct answer using the code

given below:

Code:

a, 1.2and3only

b, 2.3 and 4 only
c. land4only
d. 1,2.3and 4

g &

26.

Who among the following have advocated
the public policy aspect of Public
Admmistration?

1. H Walker

2. ML E. Dimock
3. F. A Nigro

4, J. W.Fesler

Select the correct answer using the code
given below

Code:

a. Z2.3and 4

b, 1.2and3

o, 2and 4 only
d 1.3and4

a

Who among th. foll wing views Public
Administration as we art and science ol
manage ner. 0% apphed to the atfaws of the
Star="

a. Johr Me Veigh

ootk s Guliek
= ™ Waldo

4 TN Plifiner
G T

According  w  Graieunas  law  of
relationships, i the onumber of
subordinates in an organization is 8, which
one of the following is the span of total
relationships?

a. 100
b, 490
e, 1080
d. 2376
8 ©

Match List-1 with List-II and select the

correct answer usimg the code given below

the Lists:

List-1 {Scholar)

A, F. A, Nigro

B. H. Fayol

C, P, Appleby

D, D. Waldo

List-11 (Significance of

Administration)

1. Its real core consists ol the basic
SETVICCS

2. A great creative force with men’s

welfare as its 1deal

No government ean exist without it

Public

id




4. Its processes are universal
5. Its chief function s to facilitate social

change
Coule:
A B ' D

i 1 3 4 2
b, o | 3 4
c. 4 5 2 1
d. 1 4 3 2
e d

Match List-I with List-Il and se¢leet the

correct answer using the code given below

the Lists:

List-1 (Approach to Study ol Public

Administration)

A. Philosophical approach

B. Historical approach

. Legal approach

D. Case study approach

List-I1 (Explanation)

1. Uses administrative rcaltics and
acquaints the scholars with them

2, Interprets the mformation to
pertaining to a adminstrative
agencies in chronologies order

3. Deals with formal strue’. =,
orgamzation. power £ A0
funetions ol public author ties.

4. Considers  all
administrative acti 10 _s,

Codes:

A B %= D
a 1 3 2
b. 1 4 3 2
&, 4 ' 2 I
d. - e, 3 I
g d

Whzh ne of the following 13 not a
con. ptual  approach  in Comparative
Public Administration as identified by
Ferrel Heady?

4, Cybernetics approach

Modified traditional approach
Development-administration approach
Gieneral systems approach

a

I

Yaget, of

fal
=

r'“
rh

Which one of the following 1s not a trait of
post-modern theory of Publie
Admmistration?

a. Critical theory

b, Structuration theory

¢. Phenomenology

d. Meta-narrativism

g,

Which wne of the lollowing is nol a
characteristic of “5Sala model” - 7 arismatic
society?

a, Nepotiam

bh. Entreprencurship

g. Clects

d, Functional d cusion.

s b

What does  “bazar-Canteen model’
represe ()

a. Mar tize ion im new  public

man’ gement

v eocomie sub-system  of  prismatic
eaciely

¢ Financial system of fused authonty

(. Economic freedom under public-
private partnership

g. b

Which of the following models of Fred

Riggs 18/are nearest i focus to Max

Weber's Traditional Authority System?

a. Agpraria only

b, Fused only

¢. Agraria and Fused
d. Industria

LA

Which one of the following principles of

Henri Fayol is in contrast toe F. W.

Taylor’s concept of functional authority?

a. Disapline

b. Hierarchy

¢. Departmentalization

d, Unity of command

e d

Tdentify the mcorrect statement

According to Ferrel Heady. the developing

countres

a. have imitative and
hureaticracies

b, do not permit functional autonomy to
their public serviees

unindigenous




38,

¢c. have admimstrative services without
administrative development

d. have elitist bureaucracies which are
dysfunctional

¢, b

Which of the following are the defining

features of  Public  Administration

sccording to Sir Josiah Stamp?

1. Uniformity of rules
2. Political accountability
3. Lack of ethics in business practices

4. Matrix structure of organizations
Seleet the correel answer using the code
given below

Code:
4. L.2and3
b. 2.3and 4

¢, 1 and 2 only

d. 3 and 4 only

B €

Which of the following concepts find
prominence in public choice theory?

1. Competilion

Efficiency

. Public Utility Maximization
Marketization

Select the comect answer using the <o 'e
given below

= T o

-

Code:

a2 1.2and 4

b. 1land3

e, 2and 3 only
d. 2.3 and 4

A

In the conte: * w0 S ate v/s Market debate.

which of the following statements are

correct”?

1. It has concern  for  institutional
von lism on the provision of public
L 00s and serviees.

2. Iy promotes consumers” preferences,
3. It has given rise o markel onentation,
4. It emphasizes the role of Public

Administration as the major provider
of goods and services.
Select the correet answer usmg the code
given below
Code:
a, land 2 only

40.

41.

42.

b. 2 and 3 only
g. 1.,2and3

d. 3and 4

g ©

Which one of the following is not
propounded by F, W. Taylor?

a, Differential piece rate system

b. Time and motion study

c. Unmity of command

d. Shop management

B K

Reeruitment to the higher = ~vil s vvices in
India is hased on the .co. mn ndations of
which of the Io'owin Committee/
Commission Re ons?

1. Paul Appleb,

2. Macaulay

3. Har am- athaiah

4, T &, <ot an

Sc ect 1 ¢ correct answer using the code
stve ke ow:

ot

s 1,L2and 4
b, 2and3

e, 1.3and 4

d, 2 and 4.only
e d

Which one of the following stalements is

net correet wilth regard to the Comptroller

and Audiior General of India (CAG)?

a. The CAG has been awarded a fully
independent status

b, The CAG can only be removed on the
recommendation of the President

c. The salary and emoluments of the
CAG are charged on the Consolidated
Fund of India

d. The tenure of CAG 15 fixed for six
vears

. b

A Member of the UPSC may be removexd

on the ground of mishehavior by

a, both the Houses of parhament by way
of impeachment

h. the President on the basiz of enquiry by
the Supreme Court

¢. the Chairman of the UPSC

d. the Prime Mimster on the basis of the
recommendation of the Cabinet

g b




44,

43,

46,

47.

Consider the following statements with
respect to duties of the Prime Mimster
according to the Constitution of India

1. Ta make rules for the more convemient
transaction of business of the Govi. of
India, and for the allocation among
Ministers of the said business.

2. IF the President so required, to submit
for consideration of the Council of
mimsters any on which a decision has
been taken by a minister but which has
not been considered by the Couneil.

Which of the following statements grven

above is/are correct?

a. lonly

b. 2only

c. Both 1and 2

d. Nather 1 nor 2

e. b
Which one of the following 1s the correct
chromological order of the

Committee/Commission Reports?

a. Macaulay-Aitchison-Lee-Fulton-
[slmgton

b. Aitchison-Macaulay-Fulton- Islinglon-
Lee

¢. Macaulay-Aitchison-Islington-l.ec-
Fulton

d. Islington-Aitchison-1ee-Fulto 1-
Macaulay

&

Which one of the follow 1 e 'mres does

nol  necessarily  apply '~ generalist

administration in Ina +7

a. They are thw = professionals in
administz vin. -

b. They " ve been educated in technical
die ol es

c. Thxy <2 head or work mn any
. v, nment department

w.ochey have a  broader wview of
auministration

e b

Which one of the following 15 not correct

in respect of the Governor’s Ordinance-

making power?

a. It is  exercised  only
Legislature 13 not i session

b. It is a discretionary power which need
not be exercised with the ad and
advice of Ministers

when  the

48.

49,

50

The Governor himselfl’ 1s competent to

withdraw the Ordinance at any time

d. The scope of the Ordinance-making
power is limited to subjects in List 11
and List TIT ol Schedule VII

. b

Which one of the following statements.

with regard 1o the Stale Legislature, s not

correct?

!r.-

a. The Council of DMir<ters s
collectively  responsibl= o the
Crovernor

b. Under Article 167 ~F f1,  Constitution
of India. the " 1el ( "imster has to
commumeate ‘o the Governor  all
decisions of the Touncil of Ministers
relating to v = ».ministration of the
affar- ~f the State and proposals for
legi lator

€. wnict ‘e Governor reserves a Ball for
the ¢ msideration of the Presadent, the
s. " Lequent enactment of the Bill is in
“ie hands of the President and the
Governor shall have no further part in
its carcer

d, The executive power of the State 15
vested in the Govemor and  all
execulive actions ol the State has to be
taken in the name of the Governor

g a

Which one of the lollowing slatemenls 1s

not correct with regard 1o the Cabinet

Secretary of India?

4. The office of the Cabmel Secretary
was created in the year 1950

b, The Cabinet Secretary is the principal
secretary to the Prime Ninister

¢. The Cabinet Seccretary provides
secretarial assistance to all Cabinet
commiltees

d. Tenure of the Cabinet Secretary 1s
lixed tor five years

e

Which of the following statements with

respect lo State Level Directorate 1s/are

correct?

L. Ttis always headed by a specialist,

2. Itis a line organization.

Select the correctl answer using the code

given below:

Code:




=5 &

Match List-l with List-IT and select the
comeet answer using the code given below
the Lists

List-1

A. Lord Wellesley

B. Warren Hastings

C. Wilham Bentmck

D. Lord Comwallis

List—I1

1. Created the post of Civil Judge

2. Created the office of Chiel Secretary

3. Created the office of District Collector

4. Created the post of Deputy Collector

Code: 33.
A B C D

a. 2 4 3 1

b. 1 3 4 2

e 2 3 4 1

d. 1 4 3 2

. 8

Which one of the following recommendea
the separation of regulatory a2 .!
development functions at the distr ct le el?

a. Dantwalla Committee 2.
b. Hanumantha Rac Com~ _'=e
¢, Administrative Reforr & o1 mission
d. G.V.K Rao Conmitte.
e. h
Consider the follo . tatements:
The Prime . tim." - as the head of the
Council o o ‘slers
1. h*s = ti-e wand m the distribution of
vo. folio.
2. cae shuffle the Ministers and ask any
N\ “nister to resign
3. is bound by the advice of the Ministers
4. advises the Minisiers in day-to-day
admimstration of Ministries 57

Which of the statements given above are
correct?

a. land 2only

b. 2and3

¢, LZ2and4

d. 3and4

a. 1only

b. 2only 54.
¢, Both1and 2

d. Neither | nor 2

g €

c. A

The Administrative Reforms Commission
{19066) recommended the establishment of
Lokpal” in India on the lines of
Ombudsman of which of the [ollowing
countries?

1. Finland
2. Denmark
3. Norway
4. Switzerland

Select the comect answer v 12 L.~ code
given below:

Code:

a. 1.2and4d

b. 1 and 2 only

¢. 1,2and3

d. 3.md4d

g

Maro=a -Cop aeil  form  of  Municipal

' rpora’ion 1s
cvor ght in by the 74th Constitutional
A mendment Aet

b based on the theory of separation of
powers

c. akin to Cabinet form of government

d. based on the Amernican local
government pattem

g d

Consider the following statements:

State Finance Commissions

1. receive grants  duoectly lrom  the

Finance Commission set up by the

Union Government

review the economic conditions of the

various Panchavati Raj Institutions and

Municipal Bodies in the Stale

Which of the stafements given above is/are

carrect?

Pt

a. 1 only

b, 2only

¢. Both land 2
d. Nesther 1 nor 2
e b

Consider the following statements:

The 73rd Constitutional Amendment Act

provided

1. for 27% reservation of scats at the
Panchayats for the Other Backward
Castes (DBCs)




58

59.

6l

2. that the Chawpersons of the Panchayals
al intermediate or district level. shall
be elected by. and from amongst the
elected members thereol

Which ol the statements given above is/are

correct?

a. lonly

b. 2only

¢. Both 1and 2

d. Neither 1 nor 2

@ b

Assertion (A): A system constantly reacts

to the oulside environmenl and under-

goes a process of change.

Reason (R): A system has an inherent

survivability instinel. which increases ils

capacity to face changes.

a. Both A and R are individually true and
R is the correct explanation of A

b. Both A and R are individually true but
R is not the correct explanation of A

¢ A is true but R is false

d. As false but R 8 true

e a

Assertion (A): Coordination 15 both a

positive and a negative concept.

Reason (R): Coordination pre s

disharmony. inefficiency. wastag 7.

confliet in an organization,

a. Both A and R are individua,,, ‘== and
R 18 the correet explans L. of o

b. Both A and R are ind » a y true bul
K is not the correct expla. aon of A

¢ As true but P s lse

d. Awsflalsebuly »* w

= o

Assertion A, Governor can withhold

non-M . v 91l passed by the Legislature.

Re =50, (R): Governors are empowered by

the M. e 200 of the Constitution of India

to .. so.

a. Both A and R are mdividually true and
R is the correct explanation of A

b. Both A and R are individually true but
R 15 not the correct explanation of A

c. A is true but R 1s false
A i false but R s true

B

61.

62

64,

Assertion  (A):  Conventional Public

Administration 1 based upon  the

dichotomy of politics and administration.

Reason (R): Public Administration in

India and Bntain 15 opposed lo any

political role of civil servants.

a. Both A and R are individually true and
R 18 the correct explanation of A

b. Both A and R are mdividually true but
R 15 not the correct explanation of A

¢. A ts true but R s false

d. A s false but K s true

c. b

Assertion (A): Fuaetion 'l supervision

runs counter to ... pooe e of unity of

command.

Reason (R): Unn, . command is helpful

in attair . Se v ity of direction.

a. Bot ‘. anlR are mdividually true and
B1s e correet explanation of A

b, Both A and R are individually true but
K s not the correct explanation of A

¢ Al true bul R s false

a. A s false but R is true

g. b

Which of the followmg 1s/are not correct

in respect of the Right to Information Act,

20057

1. Information in respeet of allegation of

violaton of human nghts can be

obtained in 30 days,

There are resirictions for third party

information.

. Total penalty for not providing
information shall not exceed Rs 5,000,
4. Appeal against the decision of the

Central/State  Public  Information
Officer can be made to officers of
higher rank.
Select the correet answer using the code
given below:

tJ

1ad

(Code:

a. 3 only
b, 1 only
¢. land3
d. 2and4
¢ a

Mateh List-l with List-Il and select the
correcl answer using the code given below
the Lists




63.

6,

67,

List-I (Commitiee/ Commission)

A, Macaulay Committes

B. Aitchison Commission

. Tottenham Commitlce

D. Ishngton Commission

List=IT { Recommendation)

1. Classification of civil services

2. Changes in staffing pattern of Central
Secretaral

. Competitive examination for
recruitment lo civil services

4. Establishment of Public

C'ommission

4

Service

5. Promotion of provincal civil services
members to ICS
Code:
A B C D
a, 3 ] 2 3
b. 3 4 2 3
g § 4 1 3
d. 3 1 3 2
God

Which one of the followmg Articles of the
Constitution of India provides provision
for the ereation of All India Services?

a. Article 300
b. Article 312
¢, Article 320
d. Article 321
e. b

Which of the followin @ 7 or shaational
Amendment  Acts has/h. = nade the
decistons of the ouncil of Minslers
binding on the 1 . le 't of India?
a. 42nd and 4. % . meadment Acts

. 43rd 2 me dmenc Act

b

¢, 4P Alsa, nent Act only

d. 40 han. Vst Amendment Acts

S &

v ouh of the following are the functions

of the Cabinet according to the Haldane

Commitiee Reporl (1918)7

1. The final determination of the policy o
be submitted to the Parliament

2. The supreme control of the Nahonal

Executive 1 accordance with the

policy agreed by the Parliament

Recommendation of important policies

to the Prime Minister for his‘her final

decision

()

6Y.

70.

4. The continuows coordination and
delimitation of the authority of the
several departments of the Stale

Seleet the correel answer using the code

given below:

Code:

a. L2 3andd

b 1.3 and 4 only

e. 2and 4 only

d. 1,2 and 3 only

& LR

Which of the following ‘aten. uts with

regard to the Prime © fin ter’s Office

(PMO)) ts/are correct

1. The PMO v as g1 = he status of a
department wmder the Government of
India Allocan.... of Business Rules.
1967,

2, Jun ctio 1 of the PMO extends over
all s, subjeets and activities as are
a0t ¢ secially allotted to any individual
depariment.

Se ecl the correel answer using the code

wiven below

Code:

a. 1 only

b, 2 only

¢. Both1and 2
d. Neither 1 nor 2
& C

Consider the followng  statements

Indicative planning indicates the

1. broad directions of development

2. long-term goals in strategic arcas

3. exclusive areas  of govemment
planning

Which of the statements given above 1s/are

correct?

a, | and 2only
b, 1,2and3

c. Jonly

d, 1 and 3 only
g ‘N

Which of the following accounts s/are nol
mamibained by the Compiroller and
Auditor General of India?

1, The Accounts of a State

2, The Railway Accounts
3. The Union Governmenl Accounts
4. Defense Accounts




71.

T2

Seleet the comeet answer wsing the code
given below

Code:

a. 2only
b, 2and 4
¢, land3
d. land 2
e h

Which one of the following slatements is

not eorrect?

a. There are two calegories of “Mini
Ratna Public Sector Enterprises (PSEs)
in India

b. The Mim Ratna P5Es can have wholly

awned subsidiaries

The Mini Ratna PSEs cannot rase

capital from the international market

d. The Mini Ratna PSEs can induct non-
official directors

B €

Which of the following trends are

emergmg in Public Scetor Enterprises in

India due to the impact of liberalization?

o

1. Strengthening the operational
autonomy

2, Encouraging competition with prival
sector

3. Motivating competition among b i
enterprises themselves

Select the correcl answer using

given below:

Code:

a. land 2only

b. Zand 3 only

¢, land3on'™

d. 1.2and 5

S|

On v e« © the following matters does

th Vinance Commission make

ey mn. adations  to  the President of
no..

1. The distribution between Union and
States ol net proceeds of taxes and
allocation between the States of their
respective shares of such proceeds

2. The prineiples which should govern
the grants-in-aid of the revenues of the
States out of the Consolidated Fund of
India

' ~ode

74.

7.

76.

Select the correct answer using the code
ziven below

Code:
a. 1only
b. 2 only

e, Both 1 and 2

d, Neither 1 nor2

B

Congider the following statements with

respect to the Election Cor ssion of

India

1. The terms of office € the Election
Commissioners 1+ "= _wme as the
(hairman of the 'nion Public Service
Commission

2, In case o dil) wence of oppmmion
amongst  tu. Chief”  Election
Cor . jonc - and'or other Election
C'or, » 581 nera, the matter 5 referred
to the . osident of India,

3. 'nde endence of the  Election
Commission and s sulation from
executive interference 1s ensured by a
special provision under Article 324(5)
of the Constitution of India,

Which ol the statements given above Is/are

correct?

a, 1 only
b, 3only
2. land3
d. 2and 3
€. b

Which among the following countries does
not have a Central Cnvil Service
Commission charged with the
responsibility lor reeruitment to the higher

eivil servige?

a. Canada

b. Great Britain
¢c. USA

d. France

g b

Acecording to Chester Barnard. the strength
ol administrative authority lies in the zone
of

a. acceplance

resistance

indifference

anticipated reactions

&

L




¥

8.

9

Bl

Consiwder the following statements:

According 1o Henn Fayol, decentralization

is greater when

1. policy decisions are made al lower

levels

2, important decisions are made at lower
levels

. more functions are
decisions at lower levels

Which of the stalements given above are

correet?

a 1.2and3

affected by

fad

b. 1and 3 only
c. 2and 3 only
d. 1and 2only
. b
Which one of the followmg is a
Parliamentary Standing Committeg?
4. Committee on Draft Five-Year Plan
b. Railway Convention Committes
c. Business Advisory Committee
d. Joint Committee on Fertilizer Pricing
e ¢
According to Henri Fayel. which of the
following actions are required o
supervisory control process?
1. Standard actions
2. Corrective actions
3. Coereive actions
4. Evaluatrve actions
Select the comect answe we ay Le code

given below:
Code:

g 1.2.3andd
b, 2and 3 o,

e. 1L.3art4d aly
d. 1,7and 2. Yy
e b

Mool ast-l with List-Il and select the
oo oot answer using the code given below
the Lasis:

Lixst-1 (item)

A. Constitution of Municipalities

B. Reservation of seats

. Fmance Cominission

D. Duration of Municipalitics. ete.

List-IT  (Article as per the 7d4th
Constitutional Amendment Aet)

1. Anticle 2430

sl

82,

2. Article 243T
3, Article 243
4. Arlicle 24307
Code:

A B C 0
a. 4 2 3 |
b. 1 2 3 4
e, 4 3 2 I
d, 1 3 2 4
. b

The legacy of British rule v n. Ya in lades
which of the following?
|, Creation of the 1. (. ~dian Civil
Services)
2. Secretarial ¥ ystem
3, Local Self-g ern enl
4. Law == Urder Administration
Select ae coveel answer using the code
gy e w
e
v .d 2only
0, Zand 3 only
_. 3 and 4 only
d 1.2.3and 4
e d
Consider the following slalements :
(lassical  theory of  administration
emphaswes
1. formal organizational structure
need for cilizen participation in
governance and administralion
. principles of hierarchy, division of
work and span of control
Which of the statements given above 18/are
correct?
a, 1only
b. 2only
¢ 1.2and3
d. 1and 3 only
e d
Who among the following have been harsh
critics of bureaucracy “as an nstrument of
government™?
1. Harold Laski and Peter Drucker
2. Warren Bennts and Robert Reich
3. Ralph Braibanti and Sardar Patel
Select the correct answer using the code
given helow
Code:

rd

tad




84,

843

86,

87,

88

a. land 2
b. 2and 3
¢, land3
d. 1only
e d

Which one of the following 15 nol a

characteristic  feature of  Weberian
bureaucracy?

@, Neutral compelence

b. Professional hierarchy

e.  Aulo-adminisiration

d. Legal rationalism

B £ 29,

Which one of the following thinkers was
first to talk about the concept of
‘Constructive Conflict’ in an organization?
a, Elton Mayo
b. Mary Parker Follett
e, Peter Blau
d. Henri FFayol

. b
Match List-1 with List-II and select the
correct answer using the code given below
the Lists :
List=T (Critic of Weber)
A, Alvin Gouldner
B. Robert Presthus
C, James March
List—II (Point of Criticism )
1. Intemal contradictions

2. Product of alien cultus @ 00).

3. Lack of lexibility
4. Behavioural elen. -nts i=nored

Code;
A (& 1
i 2 } 1
b ) 3 3
c 2 4 3
d 3 4
e s 1.

Who among the [ollowing subsenbed o
the ‘non-coercive” theory of organization?
George Frederickson

Frank Marini

Dwight Waldo

Frederick Thayer

* fe

B n oo

0o

Which of the following are the
contributions of Mary Parker Follett?

Cireular behaviour

Integrative unity

Law of the silugtion

Strategic limiting factor

Select the correel answer using the code

given below:

Code:

a. 1.2and3 enly

b. 1 and 3 only

¢. 2and 4 only

d 1,2.3and4

e a

Which of the followir 2 & * p vounded by

the Theory Y of Dou, las M Gregor?

A person in an ¢ ganizau.n

1. exercises se. -due tion in the service
of ohi=ctives that he seeks to realize

2. has coamitment lo objectives as a
* s¢. on e, rewards

3. inhe. =ntly likes work
w o a  capacity  for
“agenuity and creativity

v ieet the correct answer using the code

given helow

Code:

a. 1.2and 4 only

b, 1,2 and 3 only

g 1.2, 3 and 4

d

L

SV S e

imagination.

3 and 4 only

¢
Which one of the following leadership
styles was identified by the Michigan
University Leadership Studies as the most
elfective leadership style?

a. Demaocratic style leadership

b. Employee-centered leadership
¢, Participative group leadership
d. Team leadership

e b

Who among the following has observed
that instcad of hierarchy of needs.
motvation should be understood in lerms
of series of needs?

Chester Barnard

David MeClelland

Abraham NMaslow

Warren Benmis

b

kg




o2,

04,

According 1o Frederick Herzberg. the R

determinants of job dissatisfaction mclude

1. working conditions

SUpervision

salary

responsibility

5, recognilion

Which of the above are correct?

a. dand S only

b. 1.2 and 3 only

¢, 1,2,34and5

d. 1.2.3and 5 only

¢ b

Mateh List-1 with List-11 and select the
comrect answer using the code given below
the Lists

List-1 (Commission/ Commiltee)

A. First Heover Commission

B. Assheton Committee

', Brownlow Committee

g

. Fullon Commitice 9.

List-1I (Recommend ation)

1. Division of training and education

2. Reorgamzation of US President’s
office

Seniar policy advisors

Tad

4. Senior execulive service

5. Office of general Ser ces
admimistration 97,
Code

B . o)

a, 4 2 1 3

b. 3 1 2 3

& 2 1 4

. 3 3 a 2

e, b

Whict = ol the following shows the
corree, sequence of the four basic steps in

the 7. * on classification plan? 0

a. b analysis—Grouping of positions—
Standardization— Position allocation

b. Standardization—Job analvsis—
Groupmng ol  posions—Posilion
allocation

¢. Grouping of positions—Job analysis—
Position allocation— Standardization

d. Job analysis—Grouping of positions— 99

Position allocation— Standardization
e a

According to W. F. Willoughby. which of
the following are correct about the
essentials of a sound promotion system?

1. Adoption of standard specifications
setting  forth  the  dulies  and
gualifications required for all positions
i a gavernment service

Classification of all positions into
distinct classes, grades and services
based on duty classification

The inclusion within this « fass. Seation
of all administrative «osn. s exeept
those having a political varac.er
Select the correct ar swer 1smg the code
given below:

b

tid

Code:
a. 1. 2and3
b, 2apn” . aly

c. lariony

d. 1and - Laly

g A

“hieh of the following scholars has/have

no laid uny marked emphasis on

administrative ethies?

a. Paul Appleby

b. Frederick Mosher

¢. Chanakva

d. David Osborne and Ted Gaebler

G

Which of the following was not identified

by the Santhanam Committee as a major

cause of corruption in India?

a,  Administrative delays

b, Scope for personnel discretion in the
exercise ol powers

e. Cumbersome procedures

d. Absence of regulatory functions of the
government

g d

By which one of the following Acts, are

the political activities ol eivil servants in

the USA regulated?

a. The Hatch Act of 1939

b, The Civil Service Act of 1883

¢, The Ramspeck Actof 1940

d. The Tali-Hartley Act of 1947

e a

The office of the Ombudsman like

mstitution in the form of Parhamentary

Commuissioner for Adminisiration in the




1040,

101,

102,

103,

United Kingdom was set up on the

recommendations of which one of the

following Reports?

a. Sir John Whyatt Report

b. Northeote-Trevelyan Report

¢. Fulton Report

d. Aatchison Repon

e &

Which one of lhe following statements in

respeet of the French Civil Service 15 nol

correct?

a. ENA is concerned with the training of
lechnical personnel

b. Basic unit of organization of the civil
service 18 called Corps

¢. French Civil Service is elitist

d. Civil servants are allowed 1o take leave
and contest for political offices

e a

Which of the following local govermment

units are prevalent in France?

I. Department
2. Arrondissement
3. Canton

4. Commune

Select the comecl answer using the cod

given below:

Code:

a. 1.2 and 4 only

b. 2.3 and 4 only

e. L2, 3and4

d. 1and 3 only

gy L

The Amakudan , *e 1 in respeet of the

eivil service 'u T, s

a. post-rlire 1enl assignment

b, prefess one ‘raining

¢. fo sign | sting

d. « ™ stary compensation

[T

Which of the [ollowing statements

regarding civil services n Japan is/are

correct?

1. The NPA and MCA are its principal
controlling and coordinating agencies.

2. The Japanese higher civil serviee is
elitist.

Seleet the correct answer using the code

oiven below:

104,

105,

106,

2. 2 mr Oves the

-

Code:
a. lonly
b, 2only

c. Both1and 2

d. Neither 1 nor 2

[~ |

Who among the following has focused on

the politics of the budgetlary process?

a. Robert Golembiewski

b. Aaron Wildavsky

¢. Jesse Burkhead

d. A Premchand

B L

Which  of the  foll wmng  is/are

advantage/advar ages  of  zero-based

hudgeting?

[. It chminates or mimimizes the low

pric itV grmgrammes.

programme

elled 1vencss,

CFlitates eritical review of schemes

v terms of their cost eflectiveness and

cost benethits.

Seleet the correct answer using the code

given below:

Cade:

a. |l only

b, 1 and 2 only

e, 2and 3 only

d 1.2and3

e d

Consider the following statements:

The expenditure charged on the

Consolidated Fund of India comprises of

1. pension payvable to Judges of High

Court

2, debt  charges  for  which  the
Govermnment of India 1s hiable

. salary. allowances and pension payable
to Comptroller and Auditor General of
India

Which of the statements given above are

correct?

a. 1.2and3

h. 1 and 3 only

¢. 2and 3 only

d. 1 and 2 only

e &

[ad




107.

108,

109,

110.

111.

Identify the correct order of stages i

decigion-makimng, as identified by lerbert

Stmon

a. Design  activity—Choice
Intelligence activity

b. Intelligence activity—Design
aclivity—Choice activity

¢, Choice activity- Design
Intelhgence activity

d. Intelhgence activily-Choice
activity— Design activity

e b

Consider the lollowing statements:

MNew Public Admimstration

actvity—

actvity

1. uphplds social equity

2. favours ethies-centrie public policies
3. advocates centralized structures
stands for value-based goals

Which of the statements given above are
correct?

-

a. land 4 only
b. 1,2and3

e. 1.2 and4
d. 3and 4
E. C

Which one of the following has bee.
suggested by Henri Fayol as an alter .. e
to scalar chain?

a. Dual command

b, Umty of direction

¢. Gangplank
d. Esprit de comps
g 8

Which of the L Jw ag ar¢ the salient
charsctensties ¥ so-berahism that have
promoted aew oubi.. management?
1. Wellar > o @
2. In'ivie 1 Liberty
3, . "a et Mechanism

2 vatization
Seleec the correct answer using the code
given below:

Code:

a. land2

b. land3

¢. Zand 3 only
d. 2 3and 4
&

Consider the following statements:

114,

The discourse theory of post-modemn
Public Administration as propounded by
Fox and Miller believes in

1. pluralistic perspective on public policy

2. determmistic approach to public policy
3. de jure nature of public policy
4. Public Administration as a public

energy hield

Which of the statements given above is/are
correct?

a. Z2and3
b, 1and2
c. 4only
d land4d
el Lo

Consider the Tolloy ing  stalements in

respect of new pubne management:

I, It + mes st weonomy, efficiency and
~Fp, *ven ss.

2, It er phasizes on the vital mole of the
=ar! o as against the State as the key
vegulator of sociely and ceonomy.

3. Government 18 the major deer of
public activities,

4. It supports the various concepls and
principles  of  traditional  Public
Administration.

Which of the statements given above are

correct?

a. 1and2only

b, 1,2and3
c. 2andd
d. land+d

g A

According 1o Chris Argynis, which one of

the lollowing situations is a posilive

hindrance i facilitating coordination in an

organization?

a. Hierarchical coercion

b, Standardized procedures

c. Crapevine communicalion

d. Administrative planning

-

Consider the following paradigms in the

evolution of the discipline of Public

Administration as proposed by Nicholas

Henry:

1. Politics: Administration dichotomy

2. Public  Admimstration as political
Joience




116.

117.

Lid

Publiec Administration as managemenl

4. Principles of administration

. Public  Administration  as
Administralion

Which one of the following 15 the correct

order of the above?

3. I—1—4—5—-3

b. 142335

[ Sy ) B

d 143235

¢ b

Which one of the following is not

identified by Nicholas Henry as a factor

for organizational change?

Process ol adaptation

Task environment

]

Public

Technology of organization

Cirganization behaviour

d

"N"quh one of the following statements is

not correct?

The principle of hierarchy 1s al the

fbundation of all government departments

because the principle

i involves
relationship  as
government agencies

b, gives scope for delegation of au ho dy
from a superior o a subordina : ofi -

¢, facilitates reporting from lowe = Zlto
Tigher level

d. is best suted for ho . ont | type of
organizations r¢ uired i uevelopmenl
administratio

e d

Who among e vl owing have supporied

the applic. v~ of the principle of unity of

comr an?

1. He. v Fayol

7 e kand Urwiek

3. . gkler and Hudson

4. Herbert Simon

Select the correct answer using the code

given below

Code:

a. land 2only

b. 1.2 and 3 only

opp TE

superior-subordinate
applicable o

118.

119,

120

e. dand 4 only

d, 1.2.3and 4

g

Under which of the following grounds is

the principle of wunity of command

criticized?

I. Creation of large number of staff and
auxiliary agencies has diluted this
concepl.

2, The concepl of one sing” boss for
cach person 18 sclde— foond in
complex governmenta’ itua. ons.

3. People m an orgs~ab » have fixed
responsibilities f * then functions.

Seleet the corre . .ns "=+ asing the code

oiven below:
Code:

g lar.z. aly
b. 2antary
e 1 only

4, 1.2 ad3

-~ D

Wo among the following has urged that
striet adherence to rules resulls in the
displacement of goals?

a. Robert k. Merton

b, Alvin Gouldner

¢, Chester Barnard

d. Peter M. Blau

g A

On which of the following does span of
control depend?

1. Personality of the superior

2. Nature of work to be supervisad

3. Age of the organization

4, Calibre of the subordinates

5. Delegation of authority

Seleet the correct answer using the code
grven below:

Code:

a. 1.2.4and 5 only
b, 3.4 and 5 only
¢. 1.2 and 3 only

d. 1.2, 3. 4and 5

¢. d







